
SF1633.Differentialekvationer I.

KOD Betyg Poäng #G Mod 1 Mod 2 Mod 3 bonus 11 12 13 14 15 Summa
5 F 0 2 G G U 0 0
9 F 4 2 G U G 0 1 2 0 1 0 4
19 D 3 3 G G G 0 1 1 1 0 3
28 F 0 2 G U G 0 0
30 E 2 3 G G G 0 2 0 0 2
37 D 5 3 G G G 0 0 3 0 2 0 5
40 F 0 2 G U G 0 0
42 F 3 2 G U G 0 1 2 3
44 F 6 2 G U G 0 4 2 6
55 E 2 3 G G G 1 0 1 0 0 1
58 E 0 3 G G G 0 0
73 F 1 2 G U G 0 1 0 1
78 D 5 3 G G G 0 3 1 1 5
96 F 0 2 G U G 0 0

100 F 4 2 G U G 0 0 4 0 4
102 F 3 2 U G G 0 2 1 0 3
108 F 2 2 G U G 0 1 1 0 2
148 F 3 2 G U G 0 3 3
196 F 4 2 G U G 0 0 2 1 1 0 4
200 C 7 3 G G G 0 2 1 3 1 7
204 C 8 3 G G G 0 2 3 1 2 8
208 C 7 3 G G G 0 0 2 1 2 2 7
217 B 12 3 G G G 0 2 4 2 3 1 12
231 F 2 2 G U G 0 0 1 1 2
232 F 8 2 G U G 0 3 2 3 0 8
261 F 1 2 G G 1 0
268 F 3 2 U G G 0 0 2 0 1 0 3
274 B 11 3 G G G 1 3 4 2 1 0 10
295 F 8 2 U G G 1 1 4 2 0 7
296 F 8 2 G U G 0 2 4 0 2 8
304 F 5 2 G U G 0 3 2 0 5
311 D 3 3 G G G 0 3 3
320 B 12 3 G G G 0 4 3 1 3 1 12
359 F 10 2 G U G 0 3 4 2 1 0 10
369 F 0 2 G G 0 0
375 F 0 2 G U G 0 0
703 B 13 3 G G G 0 3 4 1 2 3 13
800 D 3 3 G G G 0 1 1 1 3
804 B 12 3 G G G 1 2 4 2 3 0 11
810 C 9 3 G G G 0 0 4 0 2 3 9
1003 F 10 2 G G U 0 2 4 2 2 10
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